# ON THE FROBENIUS NUMBER OF A PROPORTIONALLY MODULAR DIOPHANTINE INEQUALITY

#### M. DELGADO AND J. C. ROSALES

ABSTRACT. We give an algorithm to compute the greatest integer that is not solution of a Diophantine inequality of the form  $ax \mod b \le cx$ . As a consequence we obtain, for various cases, a formula, function of a, b and c, for that number.

### 1. INTRODUCTION

Given two non negative integers a and b, with  $b \neq 0$ , we denote by a mod b the remainder of the division of a by b. A proportionally modular Diophantine inequality is an expression of the form  $ax \mod b \leq cx$ , where a is a non negative integer, b and c are positive integers. In [8] it is shown that the set S(a, b, c) of integer solutions of the former inequality is a numerical semigroup, that is, it is a subset of the set  $\mathbb{N}$  of the non negative integers that is closed under addition, contains 0 and whose complement in  $\mathbb{N}$  is empty or finite.

If *S* is a numerical semigroup, then the greatest integer that is not in *S* is an important invariant of *S* which is called the *Frobenius number* of *S* and is denoted by g(S). This invariant has been widely studied in the literature (see, for example, [1, 2, 3, 5, 10]). The reader may find many other bibliographic references as well as results related to the problem of determining the Frobenius number of a numerical semigroup in [6].

It is an open problem to find a formula that determines g(S(a, b, c)) as a function of *a*, *b* and *c*. For the case c = 1 some progress was made in [9] and [7]. Our main goal in this paper is to give an algorithm (Algorithm 17) to compute g(S(a, b, c))from *a*, *b* and *c* in an efficient way. The theoretical basis of that algorithm is Theorem 5 which gives a particular form for g(S(a, b, c)). As a consequence of our work we obtain Theorem 22 which gives a formula for the Frobenius number of a large family of proportionally modular Diophantine inequalities.

As usual, for a rational number r,  $\lceil r \rceil$  denotes the least integer not smaller than r and  $\lfloor r \rfloor$  denotes the greatest integer not bigger than r.

We benefited from the computations done with a GAP [11] package on numerical semigroups still under development [4] to get the necessary intuition to conjecture some of the results proved here. Furthermore, this software was used to produce some of the examples presented.

The first author gratefully acknowledges support of FCT through the CMUP. He also acknowledges a sabbatical grant of FCT used to visit the Algebra Department of the University of Granada. The second author is supported by the project MTM2004-01446 and FEDER founds.

#### M. DELGADO AND J. C. ROSALES

#### 2. The main result

As the inequality  $ax \mod b \le cx$  has precisely the same integer solutions than the inequality  $(a \mod b)x \mod b \le cx$ , we do not loose generality by supposing that a < b. If  $c \ge a$ , then  $S(a, b, c) = \mathbb{N}$ , thus we may also suppose that c < a.

From now on, unless otherwise stated, we will suppose that a, b and c are positive integers satisfying c < a < b.

The following proposition has as a consequence that we may also suppose that  $a \leq \frac{b+c}{2}$ .

**Proposition 1.** S(a, b, c) = S(b + c - a, b, c).

*Proof.* We start proving that  $S(a, b, c) \subseteq S(b + c - a, b, c)$ . If  $x \in S(a, b, c)$ , then  $ax \mod b \leq cx$ . Therefore, there exist  $q, r \in \mathbb{Z}$  such that ax = qb + r, with  $0 \leq r \leq cx$ . Thus (b + c - a)x = (b + c)x - qb - r = (x - q)b + cx - r, with  $0 \leq cx - r \leq cx$ . It follows that  $(b + c - a)x \mod b \leq cx$  and consequently  $x \in S(b + c - a, b, c)$ .

Now note that c < b + c - a < b. Repeating the preceding reasoning we have that  $S(b + c - a, b, c) \subseteq S(a, b, c)$ .

Our next goal is to prove Theorem 5. To this effect we need some preliminary results.

**Lemma 2.** Let a and b be positive integers such that a < b. Then, for each integer k there exists exactly one integer  $\alpha_k$  such that  $b(a - k) - a \le a \alpha_k < b(a - k)$ . Moreover  $\alpha_k = b - \left|\frac{kb}{a}\right| - 1$ .

*Proof.* As  $0 \le kb \mod a < a$ , we have that  $b(a-k) - a \le b(a-k) - a + kb \mod a < b(a-k)$ . Therefore  $b(a-k) - a \le ab - a - \lfloor \frac{kb}{a} \rfloor a < b(a-k)$ , since  $kb = \lfloor \frac{kb}{a} \rfloor a + kb \mod a$ . Consequently  $b(a-k) - a \le a \left(b - \lfloor \frac{kb}{a} \rfloor - 1\right) < b(a-k)$ . Uniqueness follows from the fact that the set  $\{b(a-k) - a, b(a-k) - a + 1, \dots, b(a-k) - 1\}$  consists of *a* consecutive integers and therefore contains exactly one multiple of *a*.

As an immediate consequence of the uniqueness of  $\alpha_k$  in the preceding lemma we get the following:

**Lemma 3.** Let a and b be positive integers such that a < b and let k be an integer. Then  $a(b - \lfloor \frac{kb}{a} \rfloor - 1)$  is the greatest multiple of a in the set  $\{b(a - k - 1), b(a - k - 1) + 1, \dots, b(a - k) - 1\}$ .

*Remark* 4. Observe that for an integer x, if  $b(a - k - 1) \le ax < b(a - k)$ , then  $\left\lfloor \frac{ax}{b} \right\rfloor = a - k - 1$ . Thus  $ax \mod b = ax - b(a - k - 1)$ . In particular, by Lemma 2, we have the following equalities which will be used in the sequel:

$$a\left(b - \left\lfloor \frac{kb}{a} \right\rfloor - 1\right) \mod b = a\left(b - \left\lfloor \frac{kb}{a} \right\rfloor - 1\right) - b(a - k - 1)$$
$$= (k + 1)b - a\left(\left\lfloor \frac{kb}{a} \right\rfloor + 1\right)$$
$$= kb \mod a + b - a.$$

Now we are ready to prove the announced result concerning the form of the Frobenius number of S(a, b, c).

**Theorem 5.** 
$$g(S(a, b, c)) \in \{b - \lfloor \frac{kb}{a} \rfloor - 1 \mid k \in \{1, ..., a - 1\}\}.$$

*Proof.* Let g = g(S(a, b, c)). Then  $g \notin S(a, b, c)$  and therefore g < b, since every integer greater than or equal to *b* clearly belongs to S(a, b, c). Thus there exists  $k \in \{0, 1, ..., a - 1\}$  such that  $b(a - k - 1) \le ag < b(a - k)$ . If  $g < b - \left\lfloor \frac{kb}{a} \right\rfloor - 1$ , then  $g + 1 \le b - \left\lfloor \frac{kb}{a} \right\rfloor - 1$  and applying Lemma 2 we have that  $b(a - k - 1) \le a(g + 1) < b(a - k)$ . By Remark 4 we have that  $a(g + 1) \mod b = a(g + 1) - b(a - k - 1) = ag - b(a - k - 1) + a = ag \mod b + a$ . As  $g \notin S(a, b, c)$ ,  $ag \mod b > cg$  and therefore  $a(g + 1) \mod b > cg + a > c(g + 1)$ , since a > c. Consequently  $g + 1 \notin S(a, b, c)$ , contradicting the fact that g is the Frobenius number of S(a, b, c). Thus  $g \ge b - \left\lfloor \frac{kb}{a} \right\rfloor - 1$  and applying Lemma 3 we have that  $a(b - 1) \mod b > c$ .

Finally, note that if k = 0, then g = b - 1. This implies that  $a(b - 1) \mod b > c(b-1) \ge b - 1$ , which is absurd. Therefore k must not be 0 and this completes the proof.

From the preceding theorem it follows that  $g(S(a, b, c)) = b - \lfloor \frac{\xi b}{a} \rfloor - 1$ , where  $\xi = \min \left\{ k \in \{1, ..., a - 1\} \mid b - \lfloor \frac{kb}{a} \rfloor - 1 \notin S(a, b, c) \right\}$ . The following lemma will allow us to reformulate this fact.

**Lemma 6.** Let  $k \in \{1, ..., a - 1\}$ . Then  $b - \lfloor \frac{kb}{a} \rfloor - 1 \notin S(a, b, c)$  if and only if  $kb \mod a + \lfloor \frac{kb}{a} \rfloor c > (c - 1)b + a - c$ .

*Proof.* Observe that  $b - \lfloor \frac{kb}{a} \rfloor - 1 \notin S(a, b, c)$  if and only if  $a\left(b - \lfloor \frac{kb}{a} \rfloor - 1\right) \mod b > c\left(b - \lfloor \frac{kb}{a} \rfloor - 1\right)$ . By Remark 4 we know that  $a\left(b - \lfloor \frac{kb}{a} \rfloor - 1\right) \mod b = kb \mod a + b - a$ . Thus  $b - \lfloor \frac{kb}{a} \rfloor - 1 \notin S(a, b, c)$  if and only if  $kb \mod a + b - a > c\left(b - \lfloor \frac{kb}{a} \rfloor - 1\right)$  and this is equivalent to  $kb \mod a + \lfloor \frac{kb}{a} \rfloor c > (c - 1)b + a - c$ .

As a consequence we have that the set  $\left\{k \in \{1, \dots, a-1\} \mid b - \lfloor \frac{kb}{a} \rfloor - 1 \notin S(a, b, c)\right\}$  is equal to the set  $\left\{k \in \{1, \dots, a-1\} \mid kb \mod a + \lfloor \frac{kb}{a} \rfloor c > (c-1)b + a - c\right\}$  and therefore we can reformulate the observation made after Theorem 5 as follows:

**Corollary 7.** 
$$g(S(a, b, c)) = b - \lfloor \frac{\xi b}{a} \rfloor - 1$$
, where  
 $\xi = \min \left\{ k \in \{1, \dots, a-1\} \mid kb \mod a + \lfloor \frac{kb}{a} \rfloor c > (c-1)b + a - c \right\}.$ 

The preceding corollary gives an algorithm to compute the Frobenius number of a proportionally modular Diophantine inequality. Note that one has to do at most a - 1 tests and that we may, by Proposition 1, suppose that  $a \le \frac{b+c}{2}$ . Next we will work towards an improvement of this algorithm. In next section we give lower bounds for  $\xi$ .

#### 3. The algorithm

In what follows we will use the notation

$$\xi = \min\left\{k \in \{1, \dots, a-1\} \mid kb \mod a + \left\lfloor \frac{kb}{a} \right\rfloor c > (c-1)b + a - c\right\}.$$

Recall that by Corollary 7 we know that  $g(S(a, b, c)) = b - \lfloor \frac{\xi b}{a} \rfloor - 1$  and it follows from Lemma 6 that  $\xi = \min \left\{ k \in \{1, ..., a - 1\} \mid b - \lfloor \frac{kb}{a} \rfloor - 1 \notin S(a, b, c) \right\}$ .

**Proposition 8.**  $\xi > c - 1 + \frac{2(a-c)}{h}$ .

*Proof.* By Remark 4 we have that  $a\left(b - \left\lfloor \frac{\xi b}{a} \right\rfloor - 1\right) \mod b = (\xi + 1)b - a\left(\left\lfloor \frac{\xi b}{a} \right\rfloor + 1\right)$ . As  $\left(b - \left\lfloor \frac{\xi b}{a} \right\rfloor - 1\right) \notin S(a, b, c)$ , we have that  $(\xi + 1)b - a\left(\left\lfloor \frac{\xi b}{a} \right\rfloor + 1\right) > c\left(b - \left\lfloor \frac{\xi b}{a} \right\rfloor - 1\right)$ and therefore  $(\xi + 1 - c)b > (a - c)\left(\left\lfloor \frac{\xi b}{a} \right\rfloor + 1\right)$ . From  $\xi \ge 1$  and b > a it follows that  $(\xi + 1 - c)b > 2(a - c)$ , thus  $\xi > c + \frac{2(a - c)}{b} - 1$ .

## **Corollary 9.** $\xi \ge c$ .

*Proof.* It suffices to apply Proposition 8 and observe that  $c + \frac{2(a-c)}{b} - 1$  is strictly greater than c - 1.

Note that by Proposition 1 we may suppose that  $a \leq \frac{b+c}{2}$ . Under this condition we have that  $\frac{2(a-c)}{b} \leq \frac{2(a-c)}{2a-c} = 1 - \frac{c}{2a-c} < 1$ . Consequently if  $a \leq \frac{b+c}{2}$ , then the bound given by Proposition 8 is not better than the bound given by Corollary 9, which has the advantage of being very simple.

As an immediate consequence of Corollaries 7 and 9 we have the following:

**Corollary 10.**  $g(S(a, b, c)) = b - \lfloor \frac{cb}{a} \rfloor - 1$  if and only if  $cb \mod a + \lfloor \frac{cb}{a} \rfloor c > (c - 1)b + a - c$ .

*Example* 11. Let (a, b, c) = (7, 34, 6). Then  $cb \mod a + \lfloor \frac{cb}{a} \rfloor c = 175$  and (c-1)b + a - c = 171. We thus have  $g(S(a, b, c)) = b - \lfloor \frac{cb}{a} \rfloor - 1 = 4$ . One can confirm this value by observing that  $S(a, b, c) = \{0\} \cup \{x \in \mathbb{Z} \mid x \ge 5\}$ .

Combining Corollaries 7 and 9 we have  $g(S(a, b, c)) = b - \lfloor \frac{\xi b}{a} \rfloor - 1$ , were  $\xi = \min \{k \in \{c, ..., a - 1\} \mid kb \mod a + \lfloor \frac{kb}{a} \rfloor c > (c - 1)b + a - c\}$ . Note that when c = a - 1 we have  $\xi = a - 1$  and when c = a - 2 we have  $\xi = a - 2$  or  $\xi = a - 1$ . We get then immediately the following result.

**Corollary 12.** (1)  $g(S(a, b, a - 1)) = b - \lfloor \frac{(a-1)b}{a} \rfloor - 1.$ (2) g(S(a, b, a - 2)) =  $\begin{cases} b - \lfloor \frac{(a-2)b}{a} \rfloor - 1 & \text{if } (a-2)b \mod a + \lfloor \frac{(a-2)b}{a} \rfloor (a-2) > (a-3)b + 2\\ b - \lfloor \frac{(a-1)b}{a} \rfloor - 1 & \text{otherwise.} \end{cases}$  ON THE FROBENIUS NUMBER OF A PROPORTIONALLY MODULAR DIOPHANTINE INFOUALITY

Our next goal is to prove Proposition 14 where we will give a new lower bound for  $\xi$ . As we will then see in Fact 16 that bound is better than the one given by Corollary 9. We start with a simple observation given by the following lemma.

**Lemma 13.**  $g(S(a, b, c)) \le \frac{b-2}{c}$ .

*Proof.* Let g = g(S(a, b, c)). As  $g \notin S(a, b, c)$ ,  $ag \mod b > cg$ . Therefore  $cg \le bg$ b - 2. П

**Proposition 14.**  $\xi \ge \left[a - \frac{a}{c} - \frac{a}{b} + \frac{2a}{cb}\right]$ .

*Proof.* By Corollary 7 we have that  $g(S(a, b, c)) = b - \lfloor \frac{\xi b}{a} \rfloor - 1$ . Applying Lemma 13 we have that  $b - \lfloor \frac{\xi b}{a} \rfloor - 1 \le \frac{b-2}{c}$  and consequently  $b - \frac{\xi b}{a} - 1 \le \frac{b-2}{c}$ . It follows that  $\xi \ge a - \frac{a}{a} - \frac{a}{b} + \frac{2a}{cb}.$ 

As an immediate consequence of Corollary 7 and Proposition 14 we have the following result.

**Corollary 15.** Let  $\alpha = \left[a - \frac{a}{c} - \frac{a}{b} + \frac{2a}{cb}\right]$ . Then  $g(S(a, b, c)) = b - \left\lfloor \frac{ab}{a} \right\rfloor - 1$  if and only if  $\alpha b \mod a + \left| \frac{\alpha b}{a} \right| c > (c-1)b + a - c$ .

Recall that Corollary 12 gives us a formula for the Frobenius number of S(c +(1, b, c). We observe next that, when  $a \neq c + 1$ , the bound given by Proposition 14 improves the bound given by Corollary 9.

**Fact 16.** If 
$$a \neq c+1$$
, then  $\left|a - \frac{a}{c} - \frac{a}{b} + \frac{2a}{cb}\right| \geq c$ .

*Proof.* We consider first the case c = 1. If c = 1, then  $a - \frac{a}{c} - \frac{a}{b} + \frac{2a}{cb} = a - a - \frac{a}{b} + \frac{2a}{b} = \frac{a}{b}$ . Therefore  $\left[a - \frac{a}{c} - \frac{a}{b} + \frac{2a}{cb}\right] = 1$ . Let us now suppose that  $c \ge 2$  and  $a \ge c + 2$ . Then  $a(c - 1) \ge (c + 2)(c - 1) = c^2 + c - 2 \ge c^2$  and therefore  $a - \frac{a}{c} \ge c$ . As  $\frac{a}{b} - \frac{2a}{cb} = \frac{(c-2)a}{cb} < 1$ , we have that  $a - \frac{a}{c} - (\frac{a}{b} - \frac{2a}{cb}) > c - 1$ , whence  $\left[a - \frac{a}{c} - \frac{a}{b} + \frac{2a}{cb}\right] \ge c$ .

As a summary of the results shown, we give the following algorithm to compute the Frobenius number of a proportionally modular Diophantine inequality.

Algorithm 17. INPUT: positive integers a, b and c. OUTPUT: g(S(a, b, c)).

- (1) If  $a \leq c$ , then return -1.
- (2)  $a := a \mod b$ .
- (3) If a = 0, then return -1.
- (4) If  $a > \frac{b+c}{2}$ , then a := b + c a.
- (5) If a = c + 1, then return  $g = b \left| \frac{(a-1)b}{a} \right| 1$ .
- (6) Compute  $\alpha = \left[a \frac{a}{c} \frac{a}{b} + \frac{2a}{cb}\right]$ . (7) while  $\alpha b \mod a + \left\lfloor \frac{\alpha b}{a} \right\rfloor c \le (c-1)b + a c \operatorname{do} \alpha := \alpha + 1$ .
- (8) return  $b \left| \frac{ab}{a} \right| 1$ .

The observations made at the beginning of Section 2 and the fact that  $g(\mathbb{N}) = -1$  justify the steps (1), (2), (3) and (4). Step (5) is a consequence of Corollary 12. Finally steps (6) and (7) are consequences of Corollary 7 and Proposition 14.

This algorithm works quite fast. The following self-explanatory example produced with the already mentioned package on numerical semigroups [4] should be convincing. The time is measured in GAP units. We can observe that for this example (where a, b and c were (pseudo)-randomly choosen) the time consumed using our algorithm to compute the Frobenius number is insignificant. This is not the case for the time consumed to compute the list of elements of the semigroup up to b.

*Example* 18. SmallElementsOfNumericalSemigroup(S) returns the list of elements of the semigroup S not greater than the Frobenius number +1. (It is readily obtained from the list of elements not greater than b, which is first computed.)

```
gap> a := 7957;;b := 733778;;c := 1257;;
gap> S := NumericalSemigroup("propmodular",a,b,c);
<Proportionally modular numerical semigroup satisfying
7957x mod 733778 <= 1257x >
gap> FrobeniusNumberOfNumericalSemigroup(S);
553
gap> time;
0
gap> L := SmallElementsOfNumericalSemigroup(S);;time;
2244
gap> L[Length(L)]-1;
553
```

## 4. Some consequences

This section starts with a proposition that gives an upper bound for  $\xi$ . It will be used to prove Theorem 22 which gives a formula to compute the Frobenius number of a large family of proportionally modular Diophantine inequalities.

# **Proposition 19.** $\xi \leq \left[a - \frac{a}{c} + \frac{a(a-c)}{bc}\right] + 1.$

*Proof.* By Remark 4,  $a\left(b - \left\lfloor \frac{(c+t)b}{a} \right\rfloor - 1\right) \mod b = (c+t+1)b - a\left(\left\lfloor \frac{(c+t)b}{a} \right\rfloor + 1\right)$ . Thus  $b - \left\lfloor \frac{(c+t)b}{a} \right\rfloor - 1 \notin S(a, b, c)$  if and only if  $(c+t+1)b - a\left(\left\lfloor \frac{(c+t)b}{a} \right\rfloor + 1\right) > c\left(b - \left\lfloor \frac{(c+t)b}{a} \right\rfloor - 1\right)$ , which is equivalent to  $(t+1)b > (a-c)\left(\left\lfloor \frac{(c+t)b}{a} \right\rfloor + 1\right)$ . Let us now see that if  $t > a - c + \frac{a(a-c)}{bc} - \frac{a}{c}$ , then  $(t+1)b > (a-c)\left(\left\lfloor \frac{(c+t)b}{a} \right\rfloor + 1\right)$ .

Let us now see that if  $t > a - c + \frac{a(a-c)}{bc} - \frac{a}{c}$ , then  $(t+1)b > (a-c)\left(\left\lfloor\frac{(c+t)b}{a}\right\rfloor + 1\right)$ . It suffices to show that  $(t+1)b > (a-c)\left(\frac{(c+t)b}{a} + 1\right)$ , since  $\left\lfloor\frac{(c+t)b}{a}\right\rfloor \le \frac{(c+t)b}{a}$ . If  $t > a - c + \frac{a(a-c)}{bc} - \frac{a}{c}$ , then  $t\frac{c}{a} > \frac{(a-c)c}{a} + \frac{a-c}{b} - 1$ . Hence  $t\left(1 - \frac{a-c}{a}\right) > \frac{(a-c)c}{a} + \frac{a-c}{b} - 1$  and consequently  $t + 1 > \frac{a-c}{a}t + \frac{(a-c)c}{a} + \frac{a-c}{b}$ . So,  $t + 1 > (a-c)\left(\frac{t}{a} + \frac{c}{a} + \frac{1}{b}\right)$  and therefore  $(t+1)b > (a-c)\left(\frac{(c+t)b}{a} + 1\right)$ . We have shown that if  $t > a - c + \frac{a(a-c)}{bc} - \frac{a}{c}$ , then  $b - \lfloor \frac{(c+t)b}{a} \rfloor - 1 \notin S(a, b, c)$ . Therefore if  $k > a + \frac{a(a-c)}{bc} - \frac{a}{c}$ , then  $b - \lfloor \frac{kb}{a} \rfloor - 1 \notin S(a, b, c)$ . By the observation made after Theorem 5 we have that  $\xi \le \lfloor a - \frac{a}{c} + \frac{a(a-c)}{bc} \rfloor + 1$ .

Combining Propositions 14 and 19 we have the following result.

**Corollary 20.**  $\left[a - \frac{a}{c} - \frac{a}{b} + \frac{2a}{cb}\right] \le \xi \le \left[a - \frac{a}{c} + \frac{a(a-c)}{bc} + 1\right]$ . *Remark* 21. Let  $\alpha = \left[a - \frac{a}{c} - \frac{a}{b} + \frac{2a}{cb}\right]$  and  $\beta = \left[a - \frac{a}{c} + \frac{a(a-c)}{bc} + 1\right]$ . Observe that  $\beta - \alpha \le \left(a - \frac{a}{c} + \frac{a(a-c)}{bc} + 1\right) - \left(a - \frac{a}{c} - \frac{a}{b} + \frac{2a}{cb}\right) = \frac{a(a-c)}{bc} + 1 + \frac{a}{b} - \frac{2a}{cb} < \frac{a(a-c)}{bc} + 2$  since  $\frac{a}{b} - \frac{2a}{cb} = \frac{a(c-2)}{cb} < 1$ . Thus  $\left\lfloor \frac{a(a-c)}{bc} \right\rfloor + 2$  is an upper bound to the number of tests that have to be realized in Step (7) of Algorithm 17. Note also that if a(a-c) < bc, then  $\beta - \alpha < 3$ . By Corollary 20 we deduce that  $\xi \in \{\alpha, \alpha + 1, \alpha + 2\}$ . As a consequence of Corollary 7 we may then state the theorem that follows which gives formulas for the Frobenius number of a large number of proportionally modular numerical semigroups. Notice that a(a - c) < bc happens quite frequently.

**Theorem 22.** If 
$$a(a-c) < bc$$
 and  $\alpha = \left[a - \frac{a}{c} - \frac{a}{b} + \frac{2a}{cb}\right]$ , then  $g(S(a, b, c)) =$ 

$$\begin{cases} b - \left\lfloor \frac{\alpha b}{a} \right\rfloor - 1 & \text{if } \alpha b \mod a + \left\lfloor \frac{\alpha b}{a} \right\rfloor c > (c-1)b + a - c; \\ b - \left\lfloor \frac{(\alpha+1)b}{a} \right\rfloor - 1 & \text{if } \alpha b \mod a + \left\lfloor \frac{\alpha b}{a} \right\rfloor c \le (c-1)b + a - c < (\alpha+1)b \mod a + \left\lfloor \frac{(\alpha+1)b}{a} \right\rfloor c; \\ b - \left\lfloor \frac{(\alpha+2)b}{a} \right\rfloor - 1 & \text{otherwise.} \end{cases}$$

*Example* 23. In this example we use the notation of the above theorem.

- (1) Let (a, b, c) = (13, 70, 4). Then S(a, b, c) = {0, 6, 7, 11, 12, 13, 14, 15}∪{x ∈ Z | x ≥ 17}. We have α = 10. As αb mod a + [ab/a] c = 223 > 219 = (c - 1)b + a - c, it follows that g(S(a, b, c)) = b - [ab/a] - 1 = 16.
  (2) Let (a, b, c) = (20, 92, 6). Then S(a, b, c) = {0, 5, 6} ∪ {x ∈ Z | x ≥ 10}. Now we have α = 17. As αb mod a+ [ab/a] c = 472 ≤ 474 = (c-1)b+a-c and (c - 1)b + a - c = 474 < 508 = (α + 1)b mod a + [(α+1)b/a] c, we have that g(S(a, b, c)) = b - [(α+1)b/a] - 1 = 9.</li>
  (3) Let (a, b, c) = (20, 40, 7). Then S(a, b, c) = {0} ∪ {x ∈ Z | x ≥ 2}. Now, α = 17, αb mod a + [ab/a] c = 238, (c - 1)b + a - c = 253 (α + 1)b mod a + [(α+1)b/a] c = 252. We therefore have g(S(a, b, c)) = a
- $(\alpha + 1)b \mod a + \lfloor \frac{(\alpha+1)b}{a} \rfloor c = 252.$  We therefore have  $g(S(a, b, c)) = b \lfloor \frac{(\alpha+2)b}{a} \rfloor 1 = 1.$

The following result shows another situation in which we are able to give a formula for the Frobenius number.

**Proposition 24.** If *b* is a multiple of *a*, then  $g(S(a, b, c)) = b - \lfloor \frac{\gamma b}{a} \rfloor - 1$ , where  $\gamma = \lfloor a - \frac{a}{c} + \frac{a^2}{bc} - \frac{a}{b} + 1 \rfloor$ .

*Proof.* As *a* divides *b*, we have that *kb* mod  $a + \lfloor \frac{kb}{a} \rfloor c > (c-1)b + a - c$  if and only if  $\frac{kb}{a}c > (c-1)b + a - c$ , which is equivalent to  $k > a - \frac{a}{c} + \frac{a^2}{bc} - \frac{a}{b}$ . Applying Corollary 7 we have that  $\xi = \lfloor a - \frac{a}{c} + \frac{a^2}{bc} - \frac{a}{b} + 1 \rfloor$ .

Observing that for (a, b, c) = (20, 40, 7) one has  $\left\lfloor a - \frac{a}{c} + \frac{a^2}{bc} - \frac{a}{b} + 1 \right\rfloor = 19$ , Example 23(3) can also be seen as an example of application of previous proposition.

This section ends with a new lower bound for the Frobenius number of S(a, b, c). Combined with the upper bound given by Lemma 13 we may state the following.

**Proposition 25.** 
$$\left\lceil \frac{b-a}{c} - \frac{b}{a} \right\rceil \le g(S(a, b, c)) \le \left\lfloor \frac{b-2}{c} \right\rfloor$$
.

*Proof.* By Corollary 7 we know that  $g(S(a, b, c)) = b - \lfloor \frac{\xi b}{a} \rfloor - 1$  and by Proposition 19 we know that  $\xi \le a - \frac{a}{c} + \frac{a(a-c)}{bc} + 1$ . Therefore  $g(S(a, b, c)) \ge b - \frac{\xi b}{a} - 1 \ge b - \frac{b(a - \frac{a}{c} + \frac{a(a-c)}{bc} + 1)}{a} - 1 = \frac{b}{c} - \frac{a-c}{c} - \frac{b}{a} - 1 = \frac{b}{c} - \frac{a}{c} - \frac{b}{a}$ . The other inequality was given in Lemma 13.

*Example* 26. The last theorem guarantees that the g(S(33, 219, 6)) lies between 25 and 36. Since a(a - c) < bc, we could use Theorem 22 and get g(S(33, 219, 6)) = 33.

#### References

- [1] A. Brauer and J.E. Shockley, On a problem of Frobenius, J. Reine Angew. Math. **211** (1962), 215-220.
- [2] F. Curtis, On formulas for the Frobenius number of a numerical semigroup, Math. Scand. 67 (1990), 190-192.
- [3] J.L. Davison, On the linear Diophantine problem of Frobenius, J. Number Theory 48 (1994), 353-363.
- [4] M. Delgado, J. I. García-García, P. A. García-Sánchez and J. Morais, "numericalsgps": a GAP [11] package on numerical semigroups, in preparation.
- [5] S.M. Johnson, A linear diophantine problem, Canad. J. Math. 12 (1960), 390-398.
- [6] J. L. Ramírez Alfonsín, The Diophantine Frobenius problem, Forschungsintitut f
  ür Diskrete Mathematik, Bonn, Report N0.00893 (2000).
- [7] J. C. Rosales, Modular Diophantine inequalities and some of their invariants, Indian J. Pure App. Math. To appear.
- [8] J. C. Rosales, P. A. García-Sánchez, J. I. García-García and J. M. Urbano-Blanco, Proportionally modular Diophantine inequalities, J. Number Theory 103 (2003), 281-294.
- [9] J. C. Rosales, P. A. García-Sánchez and J. M. Urbano-Blanco, Modular Diophantine inequalities and numerical semigroups, Pacific J. Math., to appear in Vol 218 (2005).
- [10] E. S. Selmer, On a linear diophantine problem of Frobenius, J. Reine Angew. Math. 293/294 (1977), 1-17.
- [11] The GAP Group. GAP Groups, Algorithms, and Programming, Version 4.4, 2004. (http://www.gap-system.org).

E-mail address: mdelgado@fc.up.pt

Centro de Matemática, Universidade do Porto, Rua do Campo Alegre 687, 4169-007 Porto, Portugal

E-mail address: jrosales@ugr.es

Departamento de Álgebra, Universidad de Granada, E-18071 Granada, Spain